BID TABULATION

City File No.: EN-14-001

1 New Sidewalk Image: Sidewalk concrete Removal: Image: Sidewalk concremoval: Image: Sidewalk concrete Removal:	TOTAL
1 New Sidewalk Image: Constraint of the statistic o	TOTAL
A. Asphalt & Concrete Removal: Image: Concrete Removal of existing asphalt to accommodate sidewalk. 2000 SF \$1.00 \$2,000.00 \$1.40 \$2,800.00 \$0.90 \$ b) Removal of existing concrete sidewalks, concrete aprons, concrete driveways, etc. 1500 SF \$1.00 \$1,500.00 \$1.40 \$2,100.00 \$1.00 \$ c) Removal of existing curb & gutter. 300 LF \$1.60 \$480.00 \$1.40 \$420.00 \$2.00 \$ d) Removal of existing curb & gutter. 300 LF \$1.60 \$480.00 \$1.40 \$420.00 \$2.00 \$ d) Removal of existing curb. 375 LF \$1.60 \$600.00 \$1.40 \$220.00 \$ \$ a) Mail Box 20 EA \$445.00 \$900.00 \$60.00 \$1,200.00 \$200.00 \$ b) Signs 25 EA \$45.00 \$1,125.00 \$60.00 \$1,050.00 \$1,050.00 \$1,050.00 \$1,050.00 \$1,050.00 \$1,050.00 \$1,050.00 \$1,050.00 \$1,050.00 \$	
a) Removal of existing asphalt to accommodate sidewalk. 2000 SF \$1.00 \$2,000.00 \$1.40 \$2,800.00 \$0.90 \$ b) Removal of existing concrete sidewalks, concrete aprons, concrete driveways, etc. 1500 SF \$1.00 \$1,500.00 \$1.40 \$2,100.00 \$1.00 \$ c) Removal of existing curb & gutter. 300 LF \$1.60 \$480.00 \$1.40 \$420.00 \$2.00 \$ d) Removal of existing curb. 375 LF \$1.60 \$600.00 \$1.40 \$220.00 \$2.00 \$ a) Mail Box 20 EA \$45.00 \$900.00 \$60.00 \$1,200.00 \$200.00 \$ b) Signs 25 EA \$45.00 \$900.00 \$60.00 \$1,500.00 \$200.00 \$ c) 4' High Chain Link Fence, replacing parts only as necessary 150 LF \$7.00 \$1,050.00 \$7.00 \$1,050.00 \$1,050.00 \$15.00 \$ d) 6' High Wood Picket/PVC Fence, replacing parts only as necessary 150 LF \$9.00 \$1,350.00 \$6.00 \$900.00 \$25.00 \$ e) Utility Box Reset	
accommodate sidewalk. 2000 SF \$1.00 \$2,000.00 \$1.40 \$2,800.00 \$0.90 \$ b) Removal of existing concrete sidewalks, concrete aprons, concrete driveways, etc. 1500 SF \$1.00 \$1,500.00 \$1.40 \$2,100.00 \$1.00 \$ c) Removal of existing curb & gutter. 300 LF \$1.60 \$480.00 \$1.40 \$2,200 \$2.00 \$ d) Removal of existing curb. 375 LF \$1.60 \$480.00 \$1.40 \$22.00 \$2.00 \$ a) Maie Box 20 EA \$45.00 \$900.00 \$60.00 \$1.40 \$220.00 \$ a) Mail Box 20 EA \$445.00 \$900.00 \$60.00 \$1,200.00 \$200.00 \$ b) Signs 25 EA \$445.00 \$1,125.00 \$60.00 \$1,050.00 \$ \$ c) 4' High Chain Link Fence, replacing parts only as necessary 150 LF \$7.00 \$1,050.00 \$7.00 \$1,050.00 \$1,050.00 \$ d) 6' Hi	
b) Removal of existing concrete sidewalks, concrete aprons, concrete driveways, etc. 1500 SF \$1.00 \$1,500.00 \$1.40 \$2,100.00 \$1.00 \$ c) Removal of existing curb & gutter. 300 LF \$1.60 \$480.00 \$1.40 \$2,100.00 \$1.00 \$ d) Removal of existing curb. 375 LF \$1.60 \$480.00 \$1.40 \$420.00 \$2.00 \$ d) Removal of existing curb. 375 LF \$1.60 \$600.00 \$1.40 \$420.00 \$2.00 \$ a) Mail Box 20 EA \$445.00 \$900.00 \$60.00 \$1,200.00 \$200.00 \$ a) Mail Box 20 EA \$445.00 \$1,125.00 \$60.00 \$1,500.00 \$200.00 \$ c) 4' High Chain Link Fence, replacing parts only as necessary 150 LF \$7.00 \$1,050.00 \$7.00 \$1,050.00 \$1,050.00 \$15.00 \$ d) 6' High Wood Picket/PVC Fence, replacing parts only as necessary	
concrete aprons, concrete driveways, etc. 1500 SF \$1.00 \$1,500.00 \$1.40 \$2,100.00 \$1.00 \$ c) Removal of existing curb & gutter. 300 LF \$1.60 \$480.00 \$1.40 \$420.00 \$2.00 \$ d) Removal of existing curb. 375 LF \$1.60 \$600.00 \$1.40 \$525.00 \$1.00 \$ B. Miscellaneous Relocations:	51,800.00
concrete aprons, concrete driveways, etc. 1500 SF \$1.00 \$1,500.00 \$1.40 \$2,100.00 \$1.00 \$ c) Removal of existing curb & gutter. 300 LF \$1.60 \$480.00 \$1.40 \$420.00 \$2.00 \$ d) Removal of existing curb. 375 LF \$1.60 \$600.00 \$1.40 \$525.00 \$1.00 \$ B. Miscellaneous Relocations:	
c) Removal of existing curb & gutter. 300 LF \$1.60 \$480.00 \$1.40 \$420.00 \$2.00 \$2.00 d) Removal of existing curb. 375 LF \$1.60 \$600.00 \$1.40 \$525.00 \$1.00 \$2 B. Miscellaneous Relocations:	
d) Removal of existing curb. 375 LF \$1.60 \$600.00 \$1.40 \$525.00 \$1.00 \$9 B. Miscellaneous Relocations:	51,500.00
B. Miscellaneous Relocations: Image: Mail Box 20 EA \$45.00 \$900.00 \$60.00 \$1,200.00 \$200.00 \$ a) Mail Box 20 EA \$45.00 \$900.00 \$60.00 \$1,200.00 \$200.00 \$ b) Signs 25 EA \$45.00 \$1,125.00 \$60.00 \$1,500.00 \$200.00 \$ c) 4' High Chain Link Fence, replacing parts only as necessary 150 LF \$7.00 \$1,050.00 \$7.00 \$1,050.00 \$15.00 \$ d) 6' High Wood Picket/PVC Fence, replacing parts only as necessary 150 LF \$9.00 \$1,350.00 \$6.00 \$900.00 \$25.00 \$ e) Utility Box Reset 10 EA \$25.00 \$2,500.00 \$80.00 \$800.00 \$100.00 \$	\$600.00
a) Mail Box 20 EA \$45.00 \$900.00 \$60.00 \$1,200.00 \$200.00 \$ b) Signs 25 EA \$45.00 \$1,125.00 \$60.00 \$1,500.00 \$200.00 \$ c) 4' High Chain Link Fence, replacing parts only as necessary 150 LF \$7.00 \$1,050.00 \$7.00 \$1,050.00 \$15.00 \$ d) 6' High Wood Picket/PVC Fence, replacing parts only as necessary 150 LF \$9.00 \$1,350.00 \$6.00 \$900.00 \$25.00 \$ e) Utility Box Reset 10 EA \$250.00 \$2,500.00 \$80.00 \$800.00 \$100.00 \$	\$375.00
b) Signs 25 EA \$45.00 \$1,125.00 \$60.00 \$1,500.00 \$200.00 \$ c) 4' High Chain Link Fence, replacing parts only as necessary 150 LF \$7.00 \$1,050.00 \$7.00 \$1,050.00 \$15.00 \$ d) 6' High Wood Picket/PVC Fence, replacing parts only as necessary 150 LF \$9.00 \$1,350.00 \$6.00 \$900.00 \$25.00 \$ e) Utility Box Reset 10 EA \$250.00 \$2,500.00 \$80.00 \$100.00 \$	\$0.00
c) 4' High Chain Link Fence, replacing parts only as necessary 150 LF \$7.00 \$1,050.00 \$10.000 \$15.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$100.00 \$	54,000.00
only as necessary 150 LF \$7.00 \$1,050.00 \$7.00 \$1,050.00 \$15.00 \$ d) 6' High Wood Picket/PVC Fence, replacing parts only as necessary 150 LF \$9.00 \$1,350.00 \$6.00 \$900.00 \$25.00 \$ e) Utility Box Reset 10 EA \$250.00 \$2,500.00 \$800.00 \$100.00 \$	5,000.00
d) 6' High Wood Picket/PVC Fence, replacing parts only as necessary 150 LF \$9.00 \$1,350.00 \$6.00 \$900.00 \$25.00 \$ e) Utility Box Reset 10 EA \$250.00 \$2,500.00 \$800.00 \$100.00 \$	
replacing parts only as necessary 150 LF \$9.00 \$1,350.00 \$6.00 \$900.00 \$25.00 \$ e) Utility Box Reset 10 EA \$250.00 \$2,500.00 \$800.00 \$100.00 \$	52,250.00
e) Utility Box Reset 10 EA \$250.00 \$2,500.00 \$80.00 \$800.00 \$100.00 \$	2 750 00
	3,750.00
	51,000.00
	4 000 00
	51,000.00
	51,800.00
	57,500.00
	53,000.00
	54,000.00
	51,000.00
D. Concrete:	
sidewalks including clearing, grubbing,	
(hedge trimming, hedge removals, bush	
removals, misc. removals), excavating,	
backfilling, grading, compacting, sprinkler	
repair, and detectable warnings for all	
ramps, etc. Work to be complete in place	
	39,500.00

	b) Installation of 6" thick concrete for								
	sidewalks, driveways, driveway aprons,								
	ramps, including clearing and grubbing,								
	(hedge trimming, tree trimming, hedge								
	removal, bush removal and misc. removal),								
	excavating, backfilling, grading,								
	compacting, sprinkler repair and detectable								
	warnings for all ramps, etc. Work to be complete in place and as specified.								
	complete in place and as specified.	5,000	SF	\$4.45	\$22,250.00	\$4.00	\$20,000.00	\$4.95	\$24,750.00
	c) Installation of Type F Curb & Gutter.	300	LF	\$16.00	\$4,800.00	\$18.00	\$5,400.00	\$18.00	\$5,400.00
	d) Installation of Type D Curb.	300	LF	\$14.00	\$4,200.00	\$14.00	\$4,200.00	\$16.00	\$4,800.00
E.	Site Work:								
	a) Provide and install Argentine Bahia Sod,								
	including site grading, site compaction and								
	maintenance of sod. Complete in place								
	and as directed by the Engineer.	1,500	SF	\$0.50	\$750.00	\$0.50	\$750.00	\$0.65	\$975.00
	b) Provide and install Floratam Sod,	1,500	01	<i>40150</i>	<i>ψ, 50100</i>	φυίου	47.50100	40105	<i>φ373100</i>
	including site grading, site compaction and								
	maintenance of sod. Complete in place								
	and as directed by the Engineer	25,000	SF	\$0.45	\$11,250.00	\$0.75	\$18,750.00	\$0.50	\$12,500.00
	c) Asphalt: Type S-III asphaltic concrete								
	surface course with RS-2 tack coat								
	delivered and placed as directed,								
	(thickness varies, maximum thickness 2").								
	400 SF minimum per location, therefore if								
	less than 400SF is obtained, contractor is					10.50			
	paid for 400SF for that location	2,000	SF	\$3.00	\$6,000.00	\$3.50	\$7,000.00	\$4.00	\$8,000.00
2	Removal & Replacement of Existing Sidewalk								
Α.	Concrete:								
,	a) Remove and replace existing concrete								
	with 4" thick concrete including clearing								
	and grubbing, concrete and/or asphalt								
	removal, excavating, backfilling, grading,								
	sprinkler repair and sod restoration.	50,000	SF	\$3.50	\$175,000.00	\$3.65	\$182,500.00	\$3.48	\$174,000.00
	b) Remove and replace existing concrete	30,000	51	40.00	4175,000.00	40.00	¥102,500.00	40.10	φ17 1,000.00
	with 6" thick concrete in driveways and								
	ramps, including clearing and grubbing,								
	concrete and/or asphalt removal,								
	excavating, backfilling, compacting,								
	grading, sprinkler repair, sod restoration								
	and detectable warnings, for all ramps, etc.								
	Work to be complete and in place as	10.000	CF	¢4 50	¢4E 000 00	¢4 20	¢42,000,00	¢4.65	¢46 E00 00
	specified.	10,000	SF	\$4.50	\$45,000.00	\$4.20	\$42,000.00	\$4.65	\$46,500.00

В.	Site Work:								
	 a) Removal of tree roots under sidewalk, transport from site. 	20,000	SF	\$0.15	\$3,000.00	\$1.25	\$25,000.00	\$0.25	\$5,000.00
	 b) Importing limerock, including the cost of placing, grading, compacting, etc. in locations as directed by the Engineer 	750	CY	\$20.00	\$15,000.00	\$20.00	\$15,000.00	\$20.00	\$15,000.00
	 c) Prime coat over limerock in preparation for asphalt, where necessary 	100	SF	\$1.00	\$100.00	\$1.00	\$100.00	\$0.25	\$25.00
	 d) Importing clean fill, including the cost for placing, grading, compacting, etc., as directed by the Engineer. 	250	CY	\$15.00	\$3,750.00	\$18.00	\$4,500.00	\$16.00	\$4,000.00
3	Installation of New And Replacement Of Existing A.D.A Ramps								
Α.	New Ramps:								
	 a) Removal of existing asphalt to accommodate new ramps. 	100	SF	\$1.00	\$100.00	\$1.40	\$140.00	\$1.00	\$100.00
	b) Removal of existing curb & gutter to accommodate new ramps.	100	LF	\$6.00	\$600.00	\$3.00	\$300.00	\$1.00	\$100.00
	 c) Removal of existing curb to accommodate new ramps. d) Installation of 6" thick concrete 	100	LF	\$6.00	\$600.00	\$1.50	\$150.00	\$1.00	\$100.00
	including clearing and grubbing, miscellaneous removals excavating, backfilling, grading compacting, sprinkler repair and detectable warnings, etc. Work to be complete in place and as specified	2,500	SF	\$6.00	\$15,000.00	\$5.00	\$12,500.00	\$5.65	\$14,125.00
	 e) Installation of 4" thick concrete including clearing and grubbing, miscellaneous removals, excavating, backfilling, grading, compacting, sprinkler repair, etc. Work to be complete in place and as specified 	1,000	SF	\$5.00	\$5,000.00	\$4.00	\$4,000.00	\$5.25	\$5,250.00
В.	REMOVAL & REPLACEMENT OF EXISTING RAMPS:								
	 a) Remove and replace existing concrete with 6" thick concrete, including clearing and grubbing, asphalt removal, excavating, compacting, grading, detectable warnings. Etc. 	500	SF	\$6.00	\$3,000.00	\$5.50	\$2,750.00	\$6.25	\$3,125.00
	b) Remove and replace existing concrete with 4" thick concrete, including clearing and grubbing, asphalt removal, excavating, compacting, grading, etc.	250	SF	\$5.00	\$1,250.00	\$4.50	\$1,125.00	\$4.85	\$1,212.50

4	DAVIS-BACON ACT								
	This item relates to sidewalk construction carried out pursuant to the Davis-Bacon Act and recognizing wage rates reflected in the General Decision FL 20070037								
	Differential increase in unit price (if any), over and above unit prices for construction of 6" thick sidewalk, 4" thick sidewalk and ramps.	16,000	SF	\$0.20	\$3,200.00	\$0.00	\$0.00	\$0.15	\$2,400.00
5	ART IN PUBLIC PLACES								
	This item relates to sidewalk construction carried out as part of art in public places. Cordination between the artists and the sidewalk contrator will be needed when pouring sidewalk sections that will have artwork placed within the west concrete. Differential increase in unit price (if any), over and above unit prices for construction of 6" thick sidewalk, 4" thick sidewalk and ramps.		SF	\$1.50	\$22,500.00	\$0.00	\$0.00	\$0.25	\$3,750.00
	TOTAL BASE BID				\$399,805.00		\$402,160.00		\$409,187.50

City File No.: EN-14-001

BID TABULATION

ITEM	DESCRIPTION	QUAN	UNIT	MAGGO	LC, INC.	E & M EQUI	PMENT CORP.	ROADWAY CO	NSTRUCT. LLC
					TOTAL		TOTAL		TOTAL
1	New Sidewalk			UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
A.	Asphalt & Concrete Removal:								
А.	a) Removal of existing asphalt to								
	accommodate sidewalk.	2000	SF	\$0.50	\$1,000.00	\$0.32	\$640.00	\$1.20	\$2,400.00
	b) Removal of existing concrete sidewalks,								
	concrete aprons, concrete driveways, etc.	1500	SF	\$1.00	\$1,500.00	\$1.80	\$2,700.00	\$1.50	\$2,250.00
	c) Removal of existing curb & gutter.	300	LF	\$3.00	\$900.00	\$5.50	\$1,650.00	\$7.50	\$2,250.00
	d) Removal of existing curb.	375		\$2.00	\$750.00	\$5.00	\$1,875.00	\$6.00	\$2,250.00
В.	Miscellaneous Relocations:								
	a) Mail Box	20	EA	\$10.00	\$200.00	\$60.00	\$1,200.00	\$53.00	\$1,060.00
	b) Sians	25	EA	\$10.00	\$250.00	\$60.00	\$1,500.00	\$43.00	\$1,075.00
	c) 4' High Chain Link Fence, replacing parts			T=2100	+======	+	T = / = 30.00	+ .5.00	+ = / = · • • • •
	only as necessary	150	LF	\$5.00	\$750.00	\$20.00	\$3,000.00	\$7.00	\$1,050.00
	d) 6' High Wood Picket/PVC Fence,						1.,		1,7
	replacing parts only as necessary	150	LF	\$5.00	\$750.00	\$26.00	\$3,900.00	\$7.00	\$1,050.00
	e) Utility Box Reset	10	EA	\$20.00	\$200.00	\$85.00	\$850.00	\$250.00	\$2,500.00
C.	Miscellaneous Removals:			·					
	a) Palm Tree 8" diameter or less	5	EA	\$150.00	\$750.00	\$350.00	\$1,750.00	\$252.00	\$1,260.00
	b) Tree, 4-8" diameter	6	EA	\$130.00	\$780.00	\$350.00	\$2,100.00	\$252.00	\$1,512.00
	c) Tree, 8-12" diameter	15	EA	\$100.00	\$1,500.00	\$500.00	\$7,500.00	\$441.00	\$6,615.00
	d) Tree, 12"-18" diameter	2	EA	\$150.00	\$300.00	\$600.00	\$1,200.00	\$1,008.00	\$2,016.00
	e) Tree, 18"-24" diameter	2	EA	\$250.00	\$500.00	\$1,000.00	\$2,000.00	\$1,890.00	\$3,780.00
	f) Hedges	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$2.50	\$125.00
D.	Concrete:	50		<i>q</i> 10100	4500100	φοισσ	4500100	φ2.00	<i>Q125100</i>
5.	 a) Installation of 4⁻ thick concrete for sidewalks including clearing, grubbing, (hedge trimming, hedge removals, bush removals, misc. removals), excavating, backfilling, grading, compacting, sprinkler repair, etc. Work to be complete in place and as specified. 	10,000	SF	\$5.00	\$50,000.00	\$4.04	\$40,400.00	\$4.50	\$45,000.00
	b) Installation of 6" thick concrete for sidewalks, driveways, driveway aprons, ramps, including clearing and grubbing, (hedge trimming, tree trimming, hedge removal, bush removal and misc. removal), excavating, backfilling, grading, compacting, sprinkler repair and detectable warnings for all ramps, etc. Work to be complete in place and as specified.	5,000	SF	\$5.30	\$26,500.00	\$4.39	\$21,950.00	\$5.00	\$25,000.00

	c) Installation of Type F Curb & Gutter.	300	LF	\$20.00	\$6,000.00	\$13.25	\$3,975.00	\$26.50	\$7,950.00
	d) Installation of Type D Curb.	300	LF	\$18.00	\$5,400.00	\$10.80	\$3,240.00	\$22.00	\$6,600.00
Ε.	Site Work:								
	 a) Provide and install Argentine Bahia Sod, including site grading, site compaction and maintenance of sod. Complete in place and as directed by the Engineer. 	1,500	SF	\$0.55	\$825.00	\$0.25	\$375.00	\$1.40	\$2,100.00
	b) Provide and install Floratam Sod, including site grading, site compaction and maintenance of sod. Complete in place and as directed by the Engineer	25,000	SF	\$0.45	\$11,250.00	\$0.35	\$8,750.00	\$1.00	\$25,000.00
	and as directed by the Engineer	25,000	SF	ο υ.1 5	\$11,250.00	\$0.55	\$0,750.00	\$1.00	\$25,000.00
	 c) Asphalt: Type S-III asphaltic concrete surface course with RS-2 tack coat delivered and placed as directed, (thickness varies, maximum thickness 2"). 400 SF minimum per location, therefore if less than 400SF is obtained, contractor is paid for 400SF for that location 	2,000	SF	\$1.00	\$2,000.00	\$1.60	\$3,200.00	\$1.70	\$3,400.00
2	Removal & Replacement of Existing								
	Sidewalk								
Α.	Concrete:								
	 a) Remove and replace existing concrete with 4" thick concrete including clearing and grubbing, concrete and/or asphalt removal, excavating, backfilling, grading, sprinkler repair and sod restoration. 	50,000	SF	\$4.40	\$220,000.00	\$4.04	\$202,000.00	\$4.60	\$230,000.00
	b) Remove and replace existing concrete with 6" thick concrete in driveways and ramps, including clearing and grubbing, concrete and/or asphalt removal, excavating, backfilling, compacting, grading, sprinkler repair, sod restoration and detectable warnings, for all ramps, etc. Work to be complete and in place as specified.	10,000	SF	\$5.00	\$50,000.00	\$4.39	\$43,900.00	\$5.50	\$55,000.00
В.	Site Work:						. ,		
	a) Removal of tree roots under sidewalk, transport from site.	20,000	SF	\$0.05	\$1,000.00	\$0.75	\$15,000.00	\$0.10	\$2,000.00
	b) Importing limerock, including the cost of placing, grading, compacting, etc. in locations as directed by the Engineer	750	CY	\$5.00	\$3,750.00	\$16.00	\$12,000.00	\$32.00	\$24,000.00

		1	1	r					
	c) Prime coat over limerock in preparation								
	for asphalt, where necessary	100	SF	\$0.95	\$95.00	\$0.25	\$25.00	\$6.00	\$600.00
	d) Importing clean fill, including the cost	100	51	40.55	455.00	ψ0.25	φ25.00	φ0.00	4000.00
	for placing, grading, compacting, etc., as								
	directed by the Engineer.	250	CY	\$5.00	\$1,250.00	\$13.00	\$3,250.00	\$25.00	\$6,250.00
3	Installation of New And Replacement								1.7
5	Of Existing A.D.A Ramps								
	•• =								
Α.	New Ramps:								
	 Removal of existing asphalt to 								
	accommodate new ramps.	100	SF	\$1.00	\$100.00	\$20.00	\$2,000.00	\$6.50	\$650.00
	b) Removal of existing curb & gutter to								
	accommodate new ramps.	100	LF	\$3.00	\$300.00	\$5.50	\$550.00	\$6.50	\$650.00
	 c) Removal of existing curb to 	100	LF	\$2.00	\$200.00	¢E 00	¢500.00	¢6 50	¢650.00
	accommodate new ramps.	100		\$2.00	\$200.00	\$5.00	\$500.00	\$6.50	\$650.00
	d) Installation of 6" thick concrete								
	including clearing and grubbing,								
	miscellaneous removals excavating,								
	backfilling, grading compacting, sprinkler								
	repair and detectable warnings, etc. Work to be complete in place and as specified								
	to be complete in place and as specified	2,500	SF	\$5.50	\$13,750.00	\$8.00	\$20,000.00	\$5.50	\$13,750.00
	e) Installation of 4" thick concrete								
	including clearing and grubbing,								
	miscellaneous removals, excavating,								
	backfilling, grading, compacting, sprinkler								
	repair, etc. Work to be complete in place	1,000	SF	\$5.00	\$5,000.00	\$8,50	\$8,500.00	\$5.00	\$5,000.00
Р	and as specified REMOVAL & REPLACEMENT OF	1,000	31	\$J.00	\$J,000.00	φ 0. 50	\$0,500.00	\$J.00	\$3,000.00
В.	EXISTING RAMPS:								
	a) Remove and replace existing concrete								
	with 6" thick concrete, including clearing								
	and grubbing, asphalt removal, excavating,								
	compacting, grading, detectable warnings.								
	Ftc.	500	SF	\$5.50	\$2,750.00	\$6.00	\$3,000.00	\$9.00	\$4,500.00
	b) Remove and replace existing concrete								
	with 4" thick concrete, including clearing								
	and grubbing, asphalt removal, excavating,								
	compacting, grading, etc.	250	SF	\$5.00	\$1,250.00	\$5.50	\$1,375.00	\$8.70	\$2,175.00
4	DAVIS-BACON ACT	230	5.	40.00	41,2000	40.00	φ±/070100	40.70	42/1/ 0.00
T	PATE PACONACI								
	This item relates to sidewally construction coming out								
	This item relates to sidewalk construction carried out pursuant to the Davis-Bacon Act and recognizing wage								
	rates reflected in the General Decision FL 20070037								
		1							
	Differential increase in unit price (if any), over and								
	above unit prices for construction of 6" thick sidewalk, 4" thick sidewalk and ramps.	16,000	SF	\$0.10	\$1,600.00	\$0.00	\$0.00	\$0.03	\$480.00
	4 unick suewark and ramps.	10,000	ЭГ	\$0.10	\$1,000.00	\$U.UU	\$0.00	\$0.05	\$ 1 60.00

5	ART IN PUBLIC PLACES							
	This item relates to sidewalk construction carried out as part of art in public places. Cordination between the artists and the sidewalk contrator will be needed when pouring sidewalk sections that will have artwork placed within the west concrete. Differential increase in unit price (if any), over and above unit prices for construction of 6" thick sidewalk, 4" thick sidewalk and ramps.	SF	\$0.08	\$1,200.00	\$0.00	\$0.00	\$0.10	\$1,500.00
	TOTAL BASE BID			\$414,850.00		\$426,155.00		\$493,448.00

BID TABULATION

City File No.: EN-14-001

ITEM	DESCRIPTION	QUAN	UNIT	JONES BEN	ITEZ CORP.	JVA ENGINEER	ING CONTRACTOR	CONSTRUCT GROUP CORP.	
				UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	New Sidewalk			UNIT FRICE	TOTAL	UNIT FRICE	TOTAL	UNITFRICE	TOTAL
Α.	Asphalt & Concrete Removal:								
	a) Removal of existing asphalt to accommodate sidewalk.	2000	SF	\$0.75	\$1,500.00	\$1.00	\$2,000.00	\$1.25	\$2,500.00
	b) Removal of existing concrete sidewalks,	1500	65	40 50	+750.00	+0.75	A1 125 00	41.2F	+2.025.00
	concrete aprons, concrete driveways, etc.	1500	SF	\$0.50	\$750.00	\$0.75	\$1,125.00	\$1.35	\$2,025.00
	c) Removal of existing curb & gutter.	300	LF	\$2.50	\$750.00	\$5.00	\$1,500.00	\$8.15	\$2,445.00
-	d) Removal of existing curb.	375		\$2.50	\$937.50	\$4.00	\$1,500.00	\$8.15	\$3,056.25
В.	Miscellaneous Relocations:								
	a) Mail Box	20	EA	\$200.00	\$4,000.00	\$185.00	\$3,700.00	\$280.00	\$5,600.00
	b) Signs	25	EA	\$150.00	\$3,750.00	\$125.00	\$3,125.00	\$250.00	\$6,250.00
	 c) 4' High Chain Link Fence, replacing parts only as necessary 	150	LF	\$10.00	\$1,500.00	\$15.00	\$2,250.00	\$23.00	\$3,450.00
	 d) 6' High Wood Picket/PVC Fence, replacing parts only as necessary 	150	LF	\$9.00	\$1,350.00	\$18.00	\$2,700.00	\$44.00	\$6,600.00
	e) Utility Box Reset	10	EA	\$150.00	\$1,500.00	\$200.00	\$2,000.00	\$150.00	\$1,500.00
C.	Miscellaneous Removals:								
	a) Palm Tree 8" diameter or less	5	EA	\$400.00	\$2,000.00	\$500.00	\$2,500.00	\$360.00	\$1,800.00
	b) Tree, 4-8" diameter	6	EA	\$400.00	\$2,400.00	\$400.00	\$2,400.00	\$360.00	\$2,160.00
	c) Tree, 8-12" diameter	15	EA	\$450.00	\$6,750.00	\$600.00	\$9,000.00	\$390.00	\$5,850.00
	d) Tree, 12"-18" diameter	2	EA	\$900.00	\$1,800.00	\$800.00	\$1,600.00	\$1,100.00	\$2,200.00
	e) Tree, 18"-24" diameter	2	EA	\$1,250.00	\$2,500.00	\$1,000.00	\$2,000.00	\$1,800.00	\$3,600.00
	f) Hedges	50	LF	\$3.50	\$175.00	\$10.00	\$500.00	\$22.00	\$1,100.00
D.	Concrete:			'					
	a) Installation of 4 thick concrete for sidewalks including clearing, grubbing, (hedge trimming, hedge removals, bush removals, misc. removals), excavating, backfilling, grading, compacting, sprinkler repair, etc. Work to be complete in place and as specified.	10,000	SF	\$3.75	\$37,500.00	\$4.25	\$42,500.00	\$4.30	\$43,000.00
	b) Installation of 6" thick concrete for sidewalks, driveways, driveway aprons, ramps, including clearing and grubbing, (hedge trimming, tree trimming, hedge removal, bush removal and misc. removal), excavating, backfilling, grading, compacting, sprinkler repair and detectable warnings for all ramps, etc. Work to be complete in place and as specified.	5,000	SF	\$4.75	\$23,750.00	\$5.00	\$25,000.00	\$5.00	\$25,000.00
	c) Installation of Type F Curb & Gutter.	300	LF	\$25.00	\$7,500.00	\$22.00	\$6,600.00	\$18.55	\$5,565.00

	d) Installation of Type D Curb.	300	LF	\$24.50	\$7,350.00	\$20.00	\$6,000.00	\$18.90	\$5,670.00
E.	Site Work:	500		1		1 2177		,	1
	 a) Provide and install Argentine Bahia Sod, including site grading, site compaction and maintenance of sod. Complete in place and as directed by the Engineer. 	1 500	SF	40 50	+750.00	40.50	+750.00	40.50	+750.00
	b) Provide and install Floratam Sod,	1,500	SF	\$0.50	\$750.00	\$0.50	\$750.00	\$0.50	\$750.00
	including site grading, site compaction and maintenance of sod. Complete in place and as directed by the Engineer	25,000		\$0.60	\$15,000.00	\$0.65	\$16,250.00	\$0.50	\$12,500.00
	 c) Asphalt: Type S-III asphaltic concrete surface course with RS-2 tack coat delivered and placed as directed, (thickness varies, maximum thickness 2"). 400 SF minimum per location, therefore if less than 400SF is obtained, contractor is paid for 400SF for that location 	2,000	SF	\$3.25	\$6,500.00	\$2.50	\$5,000.00	\$3.90	\$7,800.00
2	Removal & Replacement of Existing Sidewalk								
Α.	Concrete:								
	a) Remove and replace existing concrete with 4" thick concrete including clearing and grubbing, concrete and/or asphalt removal, excavating, backfilling, grading, sprinkler repair and sod restoration.	50,000	SF	\$3.50	\$175,000.00	\$5.00	\$250,000.00	\$4.53	\$226,500.00
	 b) Remove and replace existing concrete with 6" thick concrete in driveways and ramps, including clearing and grubbing, concrete and/or asphalt removal, excavating, backfilling, compacting, grading, sprinkler repair, sod restoration and detectable warnings, for all ramps, etc. Work to be complete and in place as specified. 	10,000	SF	\$4.25	\$42,500.00	\$5.75	\$57,500.00	\$5.20	\$52,000.00
В.	Site Work:								
	 Removal of tree roots under sidewalk, transport from site. 	20,000	SF	\$0.75	\$15,000.00	\$1.00	\$20,000.00	\$0.60	\$12,000.00
	b) Importing limerock, including the cost of placing, grading, compacting, etc. in locations as directed by the Engineer	750	CY	\$64.00	\$48,000.00	\$25.00	\$18,750.00	\$75.00	\$56,250.00
	c) Prime coat over limerock in preparation for asphalt, where necessary	100	SF	\$4.00	\$400.00	\$3.00	\$300.00	\$1.20	\$120.00
	 d) Importing clean fill, including the cost for placing, grading, compacting, etc., as directed by the Engineer. 	250	CY	\$45.00	\$11,250.00	\$20.00	\$5,000.00	\$18.00	\$4,500.00
3	Installation of New And Replacement Of Existing A.D.A Ramps								

A.	New Ramps:								
	a) Removal of existing asphalt to	100	SF						
	accommodate new ramps.			\$7.50	\$750.00	\$1.50	\$150.00	\$1.10	\$110.00
	b) Removal of existing curb & gutter to	100	LF	\$4.25	\$425.00	\$5.00	\$500.00	\$7.35	\$735.00
	accommodate new ramps. c) Removal of existing curb to	100	LF	ψ 1120	φ i25i00	40100	4500100	47100	4755100
	accommodate new ramps.	100		\$4.25	\$425.00	\$4.00	\$400.00	\$7.35	\$735.00
	 d) Installation of 6" thick concrete including clearing and grubbing, miscellaneous removals excavating, backfilling, grading compacting, sprinkler repair and detectable warnings, etc. Work to be complete in place and as specified 	2,500	SF	\$4.75	\$11,875.00	\$5.00	\$12,500.00	\$10.45	\$26,125.00
	 e) Installation of 4" thick concrete including clearing and grubbing, miscellaneous removals, excavating, backfilling, grading, compacting, sprinkler repair, etc. Work to be complete in place and as specified 	1,000	SF	\$4.00	\$4,000.00	\$4.25	\$4,250.00	\$9.75	\$9,750.00
В.	REMOVAL & REPLACEMENT OF EXISTING RAMPS:								
	 a) Remove and replace existing concrete with 6" thick concrete, including clearing and grubbing, asphalt removal, excavating, compacting, grading, detectable warnings. Ftc. 	500	SF	\$5.00	\$2,500.00	\$5.25	\$2,625.00	\$10.80	\$5,400.00
	 b) Remove and replace existing concrete with 4" thick concrete, including clearing and grubbing, asphalt removal, excavating, compacting, grading, etc. 	250	SF	\$8.00	\$2,000.00	\$4.75	\$1,187.50	\$10.10	\$2,525.00
4	DAVIS-BACON ACT								
	This item relates to sidewalk construction carried out pursuant to the Davis-Bacon Act and recognizing wage rates reflected in the General Decision FL 20070037								
	Differential increase in unit price (if any), over and above unit prices for construction of 6" thick sidewalk, 4" thick sidewalk and ramps.	16,000	SF	\$0.00	\$0.00	\$0.50	\$8,000.00	\$0.00	\$0.00
5	ART IN PUBLIC PLACES								
	This item relates to sidewalk construction carried out as part of art in public places. Cordination between the artists and the sidewalk contrator will be needed when pouring sidewalk sections that will have artwork placed within the west concrete. Differential increase in unit price (if any), over and above unit prices for construction of 6" thick sidewalk, 4" thick sidewalk and ramps.	15,000	SF	\$0.45	\$6,750.00	\$0.50	\$7,500.00	\$2.40	\$36,000.00
	TOTAL BASE BID	,			\$450,887.50		\$528,662.50	1	\$583,171.25
					\$450,007.50		# 520,002.50		<i>\$</i> 565,171.25

```
BID TABULATION
```

City File No.: EN-14-001

ITEM	DESCRIPTION	QUAN	UNIT	SAINC	CORP.	FHP TECT	ONICS CORP.	PROVIDIAN C	ONST. GROUP
				UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	New Sidewalk								
Α.	Asphalt & Concrete Removal:								
	 Removal of existing asphalt to 								
	accommodate sidewalk.	2000	SF	\$1.50	\$3,000.00	\$1.29	\$2,580.00	\$2.00	\$4,000.00
	b) Removal of existing concrete sidewalks,								
	concrete aprons, concrete driveways, etc.	1500	SF	\$1.50	\$2,250.00	\$2.23	\$3,345.00	\$3.00	\$4,500.00
	c) Removal of existing curb & gutter.	300	LF	\$1.50	\$450.00	\$3.67	\$1,101.00	\$6.00	\$1,800.00
	 d) Removal of existing curb. 	375		\$1.50	\$562.50	\$2.86	\$1,072.50	\$5.00	\$1,875.00
В.	Miscellaneous Relocations:								
	a) Mail Box	20	EA	\$100.00	\$2,000.00	\$75.25	\$1,505.00	\$450.00	\$9,000.00
	b) Signs	25	EA	\$250.00	\$6,250.00	\$136.49	\$3,412.25	\$450.00	\$11,250.00
	 c) 4' High Chain Link Fence, replacing parts 								
	only as necessary	150	LF	\$20.00	\$3,000.00	\$5.61	\$841.50	\$18.00	\$2,700.00
	d) 6' High Wood Picket/PVC Fence,	450			+2.252.00	+= >=	+707 50	+22.00	+2 200 00
	replacing parts only as necessary	150	LF	\$15.00	\$2,250.00	\$5.25	\$787.50	\$22.00	\$3,300.00
	e) Utility Box Reset	10	EA	\$100.00	\$1,000.00	\$37.81	\$378.10		\$0.00
С.	Miscellaneous Removals:	_							
	a) Palm Tree 8" diameter or less	5	EA	\$180.00	\$900.00	\$310.20	\$1,551.00	\$450.00	\$2,250.00
	b) Tree, 4-8" diameter	6	EA	\$160.00	\$960.00	\$310.20	\$1,861.20	\$500.00	\$3,000.00
	c) Tree, 8-12" diameter	15	EA	\$200.00	\$3,000.00	\$490.67	\$7,360.05	\$600.00	\$9,000.00
	d) Tree, 12"-18" diameter	2	EA	\$400.00	\$800.00	\$498.62	\$997.24	\$700.00	\$1,400.00
	e) Tree, 18"-24" diameter	2	EA	\$500.00	\$1,000.00	\$650.84	\$1,301.68	\$900.00	\$1,800.00
	f) Hedges	50	LF	\$20.00	\$1,000.00	\$1.31	\$65.50	\$20.00	\$1,000.00
D.	Concrete:								
	a) Installation of 4° thick concrete for sidewalks including clearing, grubbing,								
	(hedge trimming, hedge removals, bush								
	removals, misc. removals), excavating,								
	backfilling, grading, compacting, sprinkler								
	repair, etc. Work to be complete in place								
	and as specified.	10,000	SF	\$4.00	\$40,000.00	\$5.49	\$54,900.00	\$7.00	\$70,000.00

			1	r					
	 b) Installation of 6" thick concrete for 		SF						
	sidewalks, driveways, driveway aprons,								
	ramps, including clearing and grubbing,								
	(hedge trimming, tree trimming, hedge								
	removal, bush removal and misc. removal),								
	excavating, backfilling, grading,								
	compacting, sprinkler repair and detectable								
	warnings for all ramps, etc. Work to be								
	complete in place and as specified.								
	complete in place and as specified.	5,000		\$4.80	\$24,000.00	\$6.69	\$33,450.00	\$8.00	\$40,000.00
	c) Installation of Type F Curb & Gutter.	300	LF	\$15.00	\$4,500.00	\$20.88	\$6,264.00	\$22.00	\$6,600.00
	d) Installation of Type D Curb.	300	LF	\$18.00	\$5,400.00	\$12.54	\$3,762.00	\$18.00	\$5,400.00
_	.,	300	LF	\$10.00	٥٥،٥٥ ، ٢٥,		\$3,702.00	\$10.00	\$J,700.00
Ε.	Site Work:								
	a) Provide and install Argentine Bahia Sod,		SF						
	including site grading, site compaction and								
	maintenance of sod. Complete in place								
	and as directed by the Engineer.					10.10		10.75	
		1,500		\$0.80	\$1,200.00	\$0.40	\$600.00	\$0.75	\$1,125.00
	b) Provide and install Floratam Sod,		SF						
	including site grading, site compaction and								
	maintenance of sod. Complete in place								
	and as directed by the Engineer	25,000		\$0.45	\$11,250.00	\$0.60	\$15,000.00	\$0.80	\$20,000.00
			SF						
	c) Asphalt: Type S-III asphaltic concrete								
	surface course with RS-2 tack coat								
	delivered and placed as directed,								
	(thickness varies, maximum thickness 2").								
	400 SF minimum per location, therefore if								
	less than 400SF is obtained, contractor is								
	paid for 400SF for that location	2,000		\$2.80	\$5,600.00	\$3.50	\$7,000.00	\$3.50	\$7,000.00
2	Removal & Replacement of Existing								
	Sidewalk								
Α.	Concrete:								
	a) Remove and replace existing concrete		SF						
	with 4" thick concrete including clearing		51						
	and grubbing, concrete and/or asphalt								
	removal, excavating, backfilling, grading,								
	sprinkler repair and sod restoration.	50,000		\$4.00	\$200,000.00	\$6.53	\$326,500.00	\$7.50	\$375,000.00
	b) Remove and replace existing concrete	,	SF	T	+=,000.00	+ 00	+	7.000	+
	with 6" thick concrete in driveways and		51						
	ramps, including clearing and grubbing,								
	concrete and/or asphalt removal,								
	excavating, backfilling, compacting,								
	grading, sprinkler repair, sod restoration								
	and detectable warnings, for all ramps, etc.								
	Work to be complete and in place as								
	specified.	10,000		\$4.80	\$48,000.00	\$7.74	\$77,400.00	\$7.50	\$75,000.00
В.	Site Work:								
	a) Removal of tree roots under sidewalk,	20,000	SF						
	transport from site.	_0,000	5.	\$0.70	\$14,000.00	\$0.38	\$7,600.00	\$5.50	\$110,000.00
		-	O (
		750	(Y						
	b) Importing limerock, including the cost	750	CY						
	 b) Importing limerock, including the cost of placing, grading, compacting, etc. in 	750	CY						
	b) Importing limerock, including the cost	750	CY	\$25.00	\$18,750.00	\$78.12	\$58,590.00	\$27.00	\$20,250.00

	c) Prime coat over limerock in preparation	100	SF						
	for asphalt, where necessary	100	51						
				\$2.00	\$200.00	\$0.11	\$11.00	\$0.70	\$70.00
	d) Importing clean fill, including the cost	250	CY						
	for placing, grading, compacting, etc., as			\$15.00	\$3,750.00	\$28.39	\$7,097.50	\$1.00	\$250.00
3	directed by the Engineer. Installation of New And Replacement			\$15.00	\$3,730.00	\$20.J9	\$7,057.50	\$1.00	\$230.00
2	Of Existing A.D.A Ramps								
Α.	New Ramps:								
	 Removal of existing asphalt to 	100	SF						
	accommodate new ramps.			\$2.00	\$200.00	\$1.29	\$129.00	\$0.45	\$45.00
	b) Removal of existing curb & gutter to	100	LF	\$2.00	\$200.00	\$4.06	\$406.00	\$5.50	\$550.00
	accommodate new ramps. c) Removal of existing curb to	100	LF	\$2.00	\$200.00	\$4.00	\$ 4 00.00	\$3.30	\$550.00
	accommodate new ramps.	100	LL	\$2.00	\$200.00	\$3.29	\$329.00	\$4.75	\$475.00
	d) Installation of 6" thick concrete							· · ·	,
	including clearing and grubbing,								
	miscellaneous removals excavating,								
	backfilling, grading compacting, sprinkler								
	repair and detectable warnings, etc. Work								
	to be complete in place and as specified	2,500	SF	\$9.70	\$24,250.00	\$6.69	\$16,725.00	\$8.00	\$20,000.00
	e) Installation of 4" thick concrete	,					. ,	· · · ·	, ,
	including clearing and grubbing,								
	miscellaneous removals, excavating,								
	backfilling, grading, compacting, sprinkler								
	repair, etc. Work to be complete in place	1,000	SF	\$9.10	\$9,100.00	\$5.49	\$5,490.00	\$7.00	\$7,000.00
В.	and as specified REMOVAL & REPLACEMENT OF	1,000	0.	\$ 5110	\$37100100	\$5115	40/190100	47100	<i>ψ, γ</i> οσοίου
5.	EXISTING RAMPS:								
	a) Remove and replace existing concrete								
	with 6" thick concrete, including clearing								
	and grubbing, asphalt removal, excavating,								
	compacting, grading, detectable warnings.								
	Etc.	500	SF	\$9.70	\$4,850.00	\$7.74	\$3,870.00	\$7.50	\$3,750.00
	b) Remove and replace existing concrete								
	with 4" thick concrete, including clearing								
	and grubbing, asphalt removal, excavating,								
	compacting, grading, etc.	250	SF	\$9.10	\$2,275.00	\$6.53	\$1,632.50	\$7.00	\$1,750.00
4	DAVIS-BACON ACT								
	This item relates to sidewalk construction carried out								
	pursuant to the Davis-Bacon Act and recognizing wage								
	rates reflected in the General Decision FL 20070037	l							
	Differential increase in unit price (if any), over and above unit prices for construction of 6" thick sidewalk,								
	4" thick sidewalk and ramps.	16,000	SF	\$4.50	\$72,000.00	\$0.98	\$15,680.00	\$3.00	\$48,000.00
5	ART IN PUBLIC PLACES								
	This item relates to sidewalk construction carried out as part of art in public places. Cordination between the								
	artists and the sidewalk contrator will be needed when								
	pouring sidewalk sections that will have artwork placed								
	within the west concrete. Differential increase in unit price (if any), over and above unit prices for								
	construction of 6" thick sidewalk, 4" thick sidewalk and	15,000	SF	\$5.20	\$78,000.00	\$0.49	\$7,350.00	\$3.00	\$45,000.00
	TOTAL BASE BID				\$596,147.50		\$677,945.52		\$914,140.00
L					A CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT OF A CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT OF A CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT OF A CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT OF A CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT. CONTRACT OF A CONTRACT OF A CONTRACT. CONTRA		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1	